Dr.-Ing. Dieter Seifert May 2016
Solar Cooker Development
Siedlungsstr. 12; D-84524 Neuotting

Ben 2 and Ben3 — Fuelwood Stoves
Annex A)
Drawings Ben 2 and Ben 3 and List of Parts

http://solarcooking.wikia.com/wiki/Ben 3 Firewood Stove

Content Annex A)
Fig. 1. Assembly Drawing: Front views and top views Ben 2
Fig. 2. Details Ben 2 and Ben 3: Ash Pan (1) and Grate Bar (2)
Fig. 3a. Details Ben 2: Stove Shell (3)
Fig. 3b. Details Ben 3: Stove Shell (3)
Fig. 4. Details Ben 2 and Ben 3: Tripod (4); a tripod made of round steel, see Annex E) is
recommended. Annex E) contains the documentation about this tripod and its production
Ben 3 Stove Shield (optional)
List of Parts Ben 2 and Ben 3

4
|
|
l

Ben 2 0S ¢ 3%

e 2
- 0300 gmrmee
)

U Satde ‘-m.—r

bdiv. t
| 9260 v sesfer?g -onbne de

6240

- - i

Fig. 1. Assembly Drawing: Front views and top views Ben 2 (May 2016)


http://solarcooking.wikia.com/wiki/Ben_3_Firewood_Stove

Benz/Ben3 |
_{Benz gen \)\)Benz Ben3 DS

o o
i \! o P~ 23 6.2015
: ‘ F A g
7 <& ~
® >\ :{’z' o - 4
s ST
| ' 250 o) ‘:l‘o
S ~ ¢
} oA A
1171 |9
| |
© @ ~ >
" 178 - " (2)
-® O ':4
4 e | | B
s, == ‘i«p ; ¢ | | .
& : - =
? ! R | 4, ¥ h X
e | 146 ~ lf | —
90 - ) 6
Jr2 g |
gi | e Ben2/Ben3
| 125 I 142
j I b Lol 297 | 331
< | -
| ‘ 7 -J [mm]
= |

Fig. 2. Details Ben 2 and Ben 3: Ash Pan (1) and Grate Bar (2)
(April 2015 and May 2016)



S A
S
% [ o
> T -
@ Y |
S
B tlE
| f
s i

Fig. 3a. Details Ben 2: Stove Shell (3)
(April 2015 and May 2016)

956

R |




sorgw SO €usg(E)

Fig. 3b. Details Ben 3: Stove Shell (3)

(April 2015 and May 2016)



Please see Annex E) for the recommended alternative tripod (4W) made of round steel

and its production.

Ben 3 with tripod with
welded round steel legs

(May 2016)

” ¢ A
f . Pk, Bend S s
J a
1) .li.f‘ . ¥ -
f é! !
; "'n
(j \ , | )
) (L3 !
S O l2 55
% —a
- | mm|
__ T DA B
Ben2 3 WO 620 202 8
Bend 3, 20 Tib| Wb .20
| ¢0
- & r |
1 ’
.‘\_ # / :,.'h -
N m- / B oy V '
_‘_.’/ W ¥ r . B
I em— s i [ S Sa—— Y
$ e | L ]
* - — L . e 'g ’ ‘l. a2 'ﬂIﬁ. e ' ‘N.;]'li l '
"'%'7 2 B*iU-”-WIJ i Mf -% — b e bV L. - |
e As(DeTlfretb

Fig. 4. Details Ben 2 and Ben 3: Tripod Ring (4a) and Tripod Leg (4b) (April 2015)



optional r’%) Ben3 OS
N’

(mm] 1.5 2006 D.!
e | | 4
WS e e s BEF
%\T A | ¥
=) P =
\'f- 1 B ||
| ]
M6 |1
I et (el S et L
4 f
&
(st)
Ir—/'

opfionolkS‘) Ben 3 DS
~ 296205

—_—

e |
gi "TII _Les

Fig. 5. Ben 3 stove shield (5) (optional)
(April 2015 and May 2016)

By B8 4075

' | ‘S | N
T 3%1 2T ‘

1 ‘ [ 1 "y
—:-nr‘z-o s
10' 3 15

)‘- - 40 ] h-:JS;-J y

-3

00 Q.TT’_U

S b J | Y
'[065



A, i
welded tripod tLW) Ben?2, Ben3 D&

71 ¢ 2044 |
o |
=5 |
AN !
s e ok N
) NG
ke ., .
T | |
i |
| | || Lo=617 mm
il |
' | J ‘\AW )
105 | 105 A LA
e ‘ =l
\o‘l | i [ W J
A \Yl=r) »&‘_—_)
P
m
\ Ll v e L
el
- 4{\ -
/7, A
& X
/ 610°
/ Y/
/ y / \
[ / )
u 260 XX u
/4 P
Q W\ |
- ,
\ /
. [}
L\ y
~ e - i3
I i)
Fig. 5: Welded Tripod, see Annex E)
(May 2016)
List of Parts Ben 2 and Ben 3 04.05.2016 Dr.-Ing. Dieter Seifert
Part Number of Date of drawing./ Thickness or Cross |Weight per
Number Pieces Name standard Material diameter [ width| Length | section part Total weight
Ben 2: for pot diameter 20cm, 24cm, 28cm and for pans and woks mm mm mm mm2 kg kg
1 1|Ash Pan 11.03.2015 galvanized steel sheet 0,75| 250 500 0,816 0,816
2 4|Grate (hairpin shaped) 11.03.2015 round bar steel 6 297 28,3 0,066 0,262
3 1[|Stove Shell example for 24cm Pot 11.03.2015 galvanized steel sheet 0,75| 200 830 1,083 1,083
3d 1|Stove Shell for Pans etc. 11.03.2015 galvanized steel sheet 0,75| 150 830 0,812 0,812
AW 3|Tripod leg 11.04.2016 round bar steel 6 617 28,3 0,136 0,408
optional 5a 1[Stove Shield 29.06.2015 galvanized steel sheet 0,75| 120 830 0,650 0,650
optional 5b 3[Shield Fastener 29.06.2015 galvanized steel sheet 0,75 40 75 0,020 0,059
6 10|Screw M6x16 DIN 933 galvanized steel 0,003 0,030
7 13|Nut M6 DIN 934 galvanized steel 0,002 0,026
8 2|Spanner for 10 mm wrench size Annex D) page 7 |galvanized steel
9 1[Nipper (for handling hot stove pieces)| Annex D) page 7 |galvanized steel 0,100 0,100
total kit: kg 4,25
Part Number of Date of drawing./ Thickness or Cross | Weight per
Number Pieces Name standard Material diameter [ width| Length | section part Total weight
Ben 3: for pot diameter 28cm, 30cm, 32cm and for pans and woks mm mm mm mm2 kg kg
1 1|Ash Pan 11.03.2015 galvanized steel 0,75| 250 400 0,653 0,653
2 4|Grate (hairpin shaped) 11.03.2015 round bar steel 6 331 28,3 0,073 0,292
3 1|Stove Shield example for 30cm Pot 11.03.2015  |galvanized steel sheet 0,75/ 200 1000 1,305 1,305
3d 1|Stove Shield for Pans etc. 11.03.2015 galvanized steel sheet 0,75 150( 1000 0,979 0,979
AW 3|Tripod leg 11.04.2016 round bar steel 6 617 28,3 0,136 0,408
optional 5a 1[Stove Shield 29.06.2015 galvanized steel sheet 0,75 120| 1000 0,783 0,783
optional 5b 3[Shield Fastener 29.06.2015 galvanized steel sheet 0,75 40 75 0,020 0,059
6 10|Screw M6x16 DIN 933 galvanized steel 0,003 0,030
7 13|Nut M6 DIN 934 galvanized steel 0,002 0,026
8 2|Spanner for 10 mm wrench size Annex D) page 7 |galvanized steel
9 1[Nipper (for handling hot stove pieces)| Annex D) page 7 |galvanized steel 0,100 0,100
total kit: kg 4,63

7




